Sfage 6 Advanced Additive Practice Acﬁuify Sheets

Subfracfing Two Z—Digif Numbers

[.96 — 53 = [ L3 = 26 =
.63 — 16 = [7. 68§ — 30 =
3. 39 = 2k = [3. 8] — 33 =
L. 70 = 27 = [h. 71 = 57 =
5. 46 — 30 = [5. 73 = 73 =
6. 97 — 53 = [6. 97 — 5§ =
[ 8L — 37 = [7. 56 = 27 =
§. 718 — 29 = [§. 35 = 727 =
9. 58 - 3L = 9. 61 = 50 =
[0. 87 = L] = 20. 60 - 30 =
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Sfage 6 Advanced Additive Practice Acﬁuify Sheets

Subfracfing Two Z—Digif Numbers

.7 =57 = [ 75 = 23 =
2.6l = L7 = [2. 88 — |5 =
3.5/ = 16 = [3. 85 = L0 =
L. 5T =76 = [b. L7 — 720 =
5. L1 =272 = [5.98 = 75 =
0. /9 — 6/ = [6. 59 — 33 =
[oblh =17 = [7.93 = 3| =
8. L3 — 31 = [§. 55 = 31 =
9. 5L — 36 = [9. 70 = 16 =
[0. 55 = 29 = 20. 81 - L& =
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Sfage 6 Advanced Additive Practice Acﬁuify Sheets

Subfracfing Two Z—Digif Numbers

[. 68 — 25 = [ 92 = 27 =
2. 15 = 3k = [2. 56 — L3 =
3.89 = 71 = [3. 6/ — 33 =
Lo 31 =17 = [h. LI — [§ =
5.36 = 725 = [5.97 = 37 =
0. 8 — L5 = [6. 58 — |/ =
/.97 — 65 = [7. 87 = 30 =
§. L7 — 30 = [§. 36 — 15 =
9.97 - 16 = 9. 79 = 37 =
0. 38 = 77 = 20. 77 = 29 =
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Subfracfing Two Z—Digif Numbers

88 — 56 =

3/ = 21 =
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Subfracfing Two Z—Digif Numbers

g1 — 11 =
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Subfracfing Two Z—Digif Numbers

56 = 20 =

95 — &3 =
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Sfage 6 Advanced Additive Practice Acﬁuify Sheets

Subl‘mcﬁng Two Z—D/g/r Numbers Answers

Page |
|96 -53-143  878-29-49 157323 - 50
2. 63 =16 = L7 9. 58 — 3L = 2L [6.92 — 58 = 3L
3.39 = 2L =15 10.87 = L7 = LO [7.56 — 27 = 3k
Lo70 =27 =43 [1.43-26-17  1835-22- 13
546 -30- 16 1268 -30-38 196/ —50 -/
b.97 - 53 - 4L 13.87 —33-5L  20.60 - 30 - 30
7.8L =37 = 4T LTl =52 - I

Page 2

|71 =52-19 8 43-31-12 159875 - 23
260 =42 =19 9.5, -3b6-18 1659 - 33 - 26
3.57 — 16 = L 10.55 = 29 = 76 [7.93 = 31 = 62
LoST=26-30  [1.75-23-52  1855-3] - 2L
5.4l -22-19 (288 -15-73 1970 - [6 - 5L
b.79 - 67 = 12 13.85—40 - L5 20.8] - 4§ - 33
[l =17 = 2L [L. L2 — 20 = 22
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Subimcﬁng Two Z—D/g/r Numbers Answers

Page 3

[. 68 — 25 = L3 § L2 — 30 = |2 1597 — 37 = 60
2. 75 = 3L = L] 9.97 - 16 = &I [6.58 — ] = L]
3.89 =71 = 1§ 10.38 = 272 = 16 [7.87 — 30 = 57
L. 31 =17 = 1Tk .92 - 22 = 70 [8.36 — |5 = 2|
5 36 =25 =11 12.56 — L3 = |3 19.79 — 37 = L7
6. 82 — L5 = 37 |3.67 — 33 = 3k 20,77 = 29 = L&
/.97 — 65 = 37 [ bl — 18 = 273
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[. 88 — 56 = 37

2.3 =21 =16

Page 5
387 - 77 = 10

L. 78 — 19 = 59

Page 6
5 56 - 20 - 36

6. 95 - 83 - 10
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